Functions Practice

Determine whether each of the graphs

represents a function
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The graph of y= f{x} is shown below.

name

{a) Find the domain of the function Write your

answer in interval aotation.

(b Find the range of the function. Write vour

answer in interval aotation.
(¢} Find the y-intercept(s) of the function. (0, -3)

(1) Find the following function values:

FE2: £y f(4) £6)

[sie]

[3.a]

"3aq:3

() Forwhat value(s) ofxis f(x)=97 4 q

() Onwhatinterval(s) is fincreasing? (@, q)

fyat 3 3 Y 4 2asing? e
{g) On what interval(s) is f decreasing’ ( 5' O) (q .6)
{h) What is the maximum value of the function?
() What is the minimuwm value of the function?

Evaluate:

If g(x)=a"-3x+4, find:
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q(3a)= 9a*- Fa+Y
33(0.\ = 3a’-Ja¥\3
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Functions Practice

The graph of y = g{x) is shown below,

{(a) Find the domam of the function. Write your (. 4 \J
o,6) /

answer in inferval notation.

(b} Find the range of the function. Write your
answer in interval notation.

{¢) How many x~intercept(s) does the function a
have?

(d) Fiand the following function values:
g2 g0 gQ) g £® |, B =\

9(-1)

(e) Which is greater, £{~2) of g(3)?

(0 Onwhat inerval(s) is ¢ increasing’ ' 0,0 (R

On what interval(s) is g decreasing? ( 0 z)

The graph of y= {3} 15 shown below.
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The graph of y=g{x) 15 shown below.
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{(a) Find the domain of the function. Write vour _3 G)
|

answer in interval notation.

(c) Find the y-intercept(s) of the function. (o’ q\
{d) Find the following function values:
g2y ) g gB) £6) @, q"s, 1, wnd.

{e) For what vatue(s) of x is g(x)=-27?

‘6) {b) Find the rangé of the function. Write your
answer i interval notation

- =

(f) Onwhat fntcmai(s} 15 g mcreasiflg? (. 3' 0) L3 )( 5. G )
(g) On what interval(s) is g decreasing? (O, V(3 5)

() What is the maximum value of the function? )

(1) What is the minimum value of the function?
-

{a) Find the domain of the function. Write your ( - 3 q]
]

answer in interval notation

()

Find the range of the function. Write your
answer in interval notation

{c)

{d) Find the following function values:

SE3Y £ f-0 £ S@
(&) Which is smaller. £(0) or f(3)? .?(3)

{fH Onwhat mterval(s) 1 fmereasing?

On what mterval(s) 1s_f decreasing?
(=4v

o (-2,3)V(,0)

Find the x-intercept(s) of the function. Xe - 2_

und, 0,2, 1,3
- (3, 1)






